
Linear Algebra B 1.3 WeBWorK標準問題集 線形代数学 B

Let A =

[
3e2t 2e4t

4e2t −3e4t

]
.

(a) Find the determinant of A.

det(A) =

(b) Find the matrix of cofactors of A.

C =









(c) Find the adjugate of A.

adj(A) =









(d) Find the inverse of A.

A−1 =











Linear Algebra B 1.3 WeBWorK標準問題集 線形代数学 B

Let A =

[
3e2t 2e4t

4e2t −3e4t

]
.

(a) Find the determinant of A.

det(A) = −17e6t

(b) Find the matrix of cofactors of A.

C =



 −3e4t −4e2t

−2e4t 3e2t





(c) Find the adjugate of A.

adj(A) =



 −3e4t −2e4t

−4e2t 3e2t





(d) Find the inverse of A.

A−1 =




3e−2t/17 2e−2t/17

4e−4t/17 3e−4t/17






